1. Simulate S samples from the composition (j1/1(+)) using the
observed data (Y).

Sample 1: Sample 2: Sample N:

0.16

Taxa 1: 0.14 0.1

WU(S) ~/ DiI‘(Yz + Oz) Taxa 2: 020 0.15
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2. Apply the CLR transform. 2a. Draw samples from the scale model.

- (s) I(s) I(s) log W) ~ Q
log W3 = log W™ — mean(log W;*™) 2b. Combine scale samples with composition
samples. log ) — log wlls) o log )

-1.83 240 « & 043 -008 « &«

197 2-221% & . s
: : 183 240 s = & 2. 508 690 + »
-1.612-1.89; e e e : : L. -1.975-2.215 . e
161:-1897 = v 57316581 « o -

2991-3511 « o

29913517+« 711 E_glzog .o

3. For each entity and sample s, compute log fold changes (')
and test for an effect.

9% = mean log W '$) _ mean log W (s)
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4. Aggregate test results across the S samples.




